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What do | need to be able
to do?

I
I
|
By the end of this unit you should be able to: |
Form Expressions I
Expand and factorise single. brackets :
I
|
|
|
|

Form and solve equations
Solve. equations with brackets
Represent inequalties

Form and solve inequaties

races

Simpify: grouping and combining similar terms

N

Equivalent: something of equal vale

Coefficient: a number used to multily a variable
Product: muttiply terms

Highest Common Factor (HCF): the biggest factor

Inequaity: an inequality compares who values showing it one is greater than, less than or

equal to another

qua ions

ubstitute: replace a variable with a numerical value

nequaities

(or number that mutivles to gve a term)
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| Form expressions For urknonn varibes, a elles I I Directed rumbers |1 Multipl single brackets 3 (x + 4) |

| is normally used in its place I [

| More than — ODD ||++ — 4+ e \ ¥ |

| Lessthan/ dfference — SUBTROCT [ : | [3xax [Bx4 % % % I

: eg dmorethant ————> t+4 == * |I5 ox | 1 0 | 0 :

| 8 less thank ——— k- § ::+_ - |: N— ' . ¥

I

: Only simiar terms can be grouped together : : o+ _ [ ox + 12 oc 12 :

| eg find the perimeter of this shape | epa--5adb-2 | : X+4 K+4 A+ 4 Dffferert I

|t (Perimeter = length around outside of shape) | o] 4 x| a ] 4|  represertators of |

| trdte l+tedts | —> 6+2 Ila:axwmf5 » o b+ 3 St b |

At ' bra-2+-5--3 | Xt
| Factorse into a single brackel B¢ + 4|1 Solie equations vith brackets 3 (2 +4) = 30 |
I
I ¥ . INETEETEEY 3 (2 + 4) - 30 |
: x+4 I4 «— mdcg’rra)rr?o;hméé?;h@m : : 30 ( ) Expand the brackets :
+ AnEnnEanne

: 20+ | |: % bx + 12- 30 :

I The two values muttiply together (ko the area) of the rectange : | XX [x[x[x] x;’ a -4 -4 ?ﬁfﬁﬁ Eicrg;szug ra;\swer |

| Note | : PON fraction or decimal :

I B +4 =4+ B+ 4= a4x+ ) | - X' ox = 18 O

I This s factorsed but the | | e |I,; L] s -0 x=3 o, :

| HOF hos rot been ised 11
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| Simpke Inequaities Form and solve inequaities Qlaebraic constructs |
equal to e rumber & greater than || 0 sentence with @ minimum of two numbers and)

> More than > More than or I one. maths operation

equal to

x<10
Say this out loud
X is ai vale less than 10"

[0>x
Say this out loud
“10is more than the vale’

Note
x<10 and 10>x
represent the same
vales

x+A<20

“my valve + 2 is less than or equal to 20°
x <18

The biggest the vale can be is 18

Find the possible range. of vales

x —» 3 —p 2 —» |l
X+ 2>l

X *— -3 4— 2 — ||

Xx>3

l This would suggest any value bigger than 3 satisfies the
statement

Il
3x3+2-=
1l

B | .

0x3+2-32 v

On equation where both sides have variables
that cause the same answer includes =
Formula

O ruk written with all mathemtical symbols
g area of arectange O =bxh
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